Al & Ol & A Z Ml A
20234 20ilat LE SA=E0HAIZ 2| ARA
A SUSEOHAIZZEIAIRA
M SHEZAE 2828 29
ol SMESZ0AIE 2l (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
StESTHAIE 2R A 574,641 535,571 39,070
SMECANE 228 29 540,472 500,957 39,515
SUESZAE 2el 514,912 475,397 39,515
SMHEZAIE AIEES2 369,273 321,868 37,405
201 fer= 3| 305,748 289,468 16,280
01 At 2|l 22,448 21,248 1,200
OZAItA QHEBA =8
300,000& %12 300
OAlE=E &J| ot EH
1,000,000 *23] 2,000
O&J| otdate| CHeY 1,579,000 122 18,948
OFAAEZE RA2 22 78
100,000 »12& 1,200
2 S5=2g4l 283,300 268,220 15,080
oNIIR3 11,690,000& « 12& 140,280
Odotr=es=s 2,670,000& *12& 32,040
OZADIARS 5,500,000&  12& 66,000
OAtMESIHI (23, ISt 2elxt)
100,0002 %12 100
OJtAAD ey & 288
30,000& %12 30
OusS7rEFE=S 7,500,000 12 7,500
OFIIRIM &2 (AEABE)
90,000,000 *10% 9,000
OAg =4l HE3HE AR
30,0002 12 360
OUz=x2gE RF 200,000 <2CH 400
OaxgAIE FX&e| EH
350,000& *102 3,500
OAZAE SSHLESE & ASIIsESE
CHE 2,800,000& *14] 2,800
OAESESYI FA2L Y
45,0002 123 540
OFIIAE sXI22|(LAI] ZF)
4,500,00081%14] 4,500
OIIHAE FRI2l(OIAAIE L BE =
EH Z§) 4,500,000 * 14 4,500
OZHAIE A8 RXE(M2HMELD 8)
4,250,000 *14] 4,250
OJIAEHl ds 84 7,500,000 14 7,500
206 M=l 1,200 2,400 1,200
01 M= HI 1,200 2,400 21,200
OFAMAIEE KRNES HROIH, &I 28
) 100,000 * 12 1,200
401 Al HIZL 201 52,325 30,000 22,325
01 Al&H| 52,325 30,000 22,325




A SUSEOHAIZZEIAIRA
M SHEZAE 2828 29
Sl SUSEUHAE B (cie) 29
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFAL AIE= RRE=
20,325,000 » 14 20,325
Ost=R0AIY =Rt & R &4
32,000,000 * 14! 32,000
St ZIAE S22 155,639 183,529 2,110
201 2= 152,490 149,380 3,110
01 At22t2lt] 22,350 21,240 1,110
OFatx 22l 84
660,000& 122 7,920
OFA A (A=) 120,000& * 122 1,440
OZ2LHY B0HE & &It A (L S)
1,000,000« 128 12,000
OHA BT ZEHZE 72
2,500 x33&* 122 990
2 s5=4g4l 130,140 128,140 2,000
Od2+IIRLE M2t
3,500,000 *2CH 7,000
Odslx H4 3,800,000& %14 3,800
OM+=Z A 4,0002 x255=+22 2,040
OZMHAIE M=&Y 1,500,000& *22] 3,000
OXIo+=ItE & A Ha
1,150,000 *23] 2,300
OZHAIE HAE 112,000,000 *14] 112,000
206 M=l 3,149 4,149 1,000
01 M= HI 3,149 4,149 A1,000
Oxgd= RIEHIZ 3,000& x6705= 2,010
ONEE Zatzs 17,0003 +67 % 1,139
SMHEZAE 2E 25,560 25,560 0
=S85 24,300 24,300 0
201 er2 3| 21,700 21,700 0
01 AtR2telHl 4,740 4,740 0
Osdt=0lAE 822 MR
1,140,000& *14] 1,140
OZolstts AXHLBA =2
650,000 43 2,600
O HAEAN ST M
50,0002 *200K 1,000
02 S3=gHl 16,960 16,960 0
OQIHY &83ld MER(RSEEY)
330,000& * 128 3,960
OREILY SN2
13,000,000 * 14| 13,000
206 M=l 600 600
01 MZH| 600 600
OZotsdt= otdd HAL AlE THF b
150,000 43 600




od
i’
oF
uJ

el
=]
=)
umy

MESEOHAIE
SOHAI
SOHAI

=
&=

=
=)
=
S
=
=)

2A:
X XH
o
&

no
KIO
E
E=)
818 S|38|8 T TQ B 318|188 N RN g5 S
S|S MRIR oI~ IN|N S N 2| S|x N @ [ > | =
LH3r
ik
RIS
18 8138|1388 Z|IB|F 22|18 BB [IB|B|IL s &b R BIIKK & 8le|g ¢ 8 8
OO O |AN AN A N[~ ]| DOD]|O|O|© © ™ D= | — || — AN N|MO|™ (e} OO IN NN =
dlad Q=== SlElSlglsle 8 5 S| f|g|s|e © Gl v —|a NN
al
<
S
B0 ol A A T W 3 @
X ! ¢ 2 & S @ S = g
T X * (e 0] (ep) Lo
. = N S S
2 B Bl |_|3 N g
=< <[« 0k - |~ SEE
3
ot I o= 4 (- 5
3 El 80 <|<X|m o< o
. i oa:aan_ = |5 B B 3
= X o & || & o | D D - = 5 =
= = IEIETES & | ko 2 30 s & 2R
Gl i S w |Z2|3 0 n R ) 0H S oy
F W | = |=|3|4 <+ + =3 o i w0 o ok o
L [N = R =0 ER R A AR L A g 5 0 |s|a A a
S SN = Tl e B ) B moom o d|eeo & s 8 s I R R w5
= |H|x 2 |@|W|m W HEIELE! o R WA o oy OH s = [K|x D W
_._mo nl|<x oF |DJ|0F < R LR I IV S BT S mo(.mum_“um f X|o|= M = _uf%oazummuo
RV Jau|m U (mofal|< N |S|5|e|ad|H X X |Zls|al|< & H ks x W janfro RO I+ 2
sz © |wlgls © |[Rl®|d|sls © 8O |[Fllsls © v Oyl © O |gla Ox O
Q| — o | O [N N (@) oy [ e (@) OO OO
% & o | mfoocaﬁ1 _%52 & &
Gl 0k | & | o) |~
R0 | o) ~




